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The polar equation of the hyperbola
2 2 _p2
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Use the result above to write the polar form of the equation of the conic.
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Polar Equations of Conics

The graph of a polar equation of the form ﬁ
ep ep
l.r=——""—— 2. r=———
" T 1xecosd "“1xesing

is a conic, where e > 0 is the eccentricity and |p| is the distance between the
focus (pole) and the directrix.

ep . N
r=— Honzontal directrix
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r= N . Vertical directrix
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1. Horizontal directrix above the pole: r=—————
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. . . ep
2. Horizontal directrix below the pole: r=-———=
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. . . : ep
3. Vertical directrix to the right of the pole: r = ————
1 +ecosf
) . . e o ep
4. Vertical directrix to the left of the pole: r= —"——
Il —ecosf
7.+ 0 points LarTrig10 6.9.0

Find a polar equation of the indicated conic in terms of r with the given characteristics and focus at the pole.
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Find a polar equation of the conic in terms of r with its focus at the pole.
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Find a polar equation of the indicated conic in terms of r with the given characteristics and focus at the pole.
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#16 - rotated hyperbola:
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2. + 01 points

LarTrig10 6.9.048. [3884566
Find a polar equation of the indicated conic in terms of r with the given characteristics and focus at the pole
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20. + 0/1 points

Find a polar equation of the conic in terms of r with its focus at the pole.
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50. Hyperbola
51. Hyperbola

52. Hyperbola
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